
Nome: Soluzioni

Matematica www.CommonCoreSheets.it 3 1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Risposte

1. 10.553

2. 7.262

3. 19.577

4. 12.213

5. 9.647

6. 11.388

7. 5.755

8. 15.168

9. 11.335

10. 11.187

11. 9.273

12. 13.882

13. 8.589

14. 7.279

15. 14.390

16. 14.434

17. 14.215

18. 12.825

19. 5.676

20. 3.818

Risolvi ogni problema.

1) 7.817 + 2.736 = 10.553

2) 5.402 + 1.860 = 7.262

3) 9.936 + 9.641 = 19.577

4) 9.506 + 2.707 = 12.213

5) 5.672 + 3.975 = 9.647

6) 7.744 + 3.644 = 11.388

7) 3.473 + 2.282 = 5.755

8) 9.324 + 5.844 = 15.168

9) 5.885 + 5.450 = 11.335

10) 8.779 + 2.408 = 11.187

11) 8.084 + 1.189 = 9.273

12) 7.730 + 6.152 = 13.882

13) 4.328 + 4.261 = 8.589

14) 4.599 + 2.680 = 7.279

15) 7.471 + 6.919 = 14.390

16) 7.534 + 6.900 = 14.434

17) 9.440 + 4.775 = 14.215

18) 7.517 + 5.308 = 12.825

19) 3.591 + 2.085 = 5.676

20) 1.967 + 1.851 = 3.818
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Risolvi ogni problema.

9.273 11.187 5.755 11.335

13.882 7.262 12.213 19.577

9.647 10.553 15.168 11.388

1) 7.817 + 2.736 = 10.553

2) 5.402 + 1.860 = 7.262

3) 9.936 + 9.641 = 19.577

4) 9.506 + 2.707 = 12.213

5) 5.672 + 3.975 = 9.647

6) 7.744 + 3.644 = 11.388

7) 3.473 + 2.282 = 5.755

8) 9.324 + 5.844 = 15.168

9) 5.885 + 5.450 = 11.335

10) 8.779 + 2.408 = 11.187

11) 8.084 + 1.189 = 9.273

12) 7.730 + 6.152 = 13.882

Risposte

1. 10.553

2. 7.262

3. 19.577

4. 12.213

5. 9.647

6. 11.388

7. 5.755

8. 15.168

9. 11.335

10. 11.187

11. 9.273

12. 13.882

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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